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Instructions: Answer ealch question completely. Show all  work for anly computational questions.
I

.  t . . .t .  ln 2006, 75.9% ti f  f irst-year col lege students responded to alnz(rub,  /5 .9YoPrr l rs t -yearcol legestudentsrespondedtoanat ionalsurveysaidthat theyusedl
the Internet freguently for research or homework. Administrbtors at a part icular university
decir led to survfY their own students to see if  they were typiCal or used the Internet more ofterI t  
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Thelt f in6 that 1p8 of 200 students of their sample said they used the Internet frequently for
I

research or hon 'ork. conduct a hypothesis test to see i f  there is enough evidence to think
use the Internet more often. Use a 0.05 si !ni f  icance level.
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2. How can a resul be stat ist ical ly s igni f icant without being pract ical ly important?
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